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Q.1 Read the following passage carefully.

 Nainital is a glorious hill-station in Uttarakhand. It is 336 kms from Delhi which was discovered by 

 Lord Barron, a Britisher in 1841. It is surrounded by mountains on three sides. The first one is Naina 

 (2615 meters) the second is Deopatha (2438 meters)

 is the highest mountain among the three.

 From the sea-level, Nainital hill station is located at a height of 6350 feet. In winter Nainital has 

 freezing cold temperature falling below zero degrees centigra

 FeburaryNainital hill station gets its annual snowfall. Summer season is also very cool in Nainital. 

 The highest temperature is not more than 26 degrees centigrade. So most tourists prefer to come at 

 summer to explore Nainital tourism.

 Nainital is named after its beautiful lake Naini and it is the base for tourism here. The lake is called 

 Naini because it looks like eye shape. This Lake is famed among the visitors, tourists and nature 

 lovers for yatching and boating. 

 The southern end area of the lake is called Tallital and the northern end area is called Mallital. Both 

 the areas have pretty cottages, Luxuriou

 game parlours and luxury shops.

 Naina peak, which is also known as Cheena Peak is the most favourite picnic spot of Nainital. Its 

 height is 2612 meters. It is 6 km far from Nainital. We can view the snow garbing Himalayas, plane 

 areas, Nainital city and its locality. Naina Devi Temple is situated on 

 lake. The presiding goddess of this temple is “MaaNaina Devi”

   1.1  QUESTIONS :-   

 On the basis of the reading of the passage, answer the following questions in brief:

1. “Nainital is surrounded by mountains on 

mountains. 

2. When does Nainital hill station get its annual snowfall? When do tourists prefer to visit this hill 

station and why? 

3. Why is Lake Naini  so called? Why is this lake very popular among the touris

4. Mention some of the features of Naina Peak.

1.2   VOCABULARY   

1. The word ‘explore’ means………………….

(a) travel to learn new things

(b) spend time leisurely  

2. Another word for ‘famed’ is …………………………
(a) Renowned   (b) 

3. The opposite of ‘prefer’ is……………………….
(a) Select   (b) 
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Read the following passage carefully. 

station in Uttarakhand. It is 336 kms from Delhi which was discovered by 

Lord Barron, a Britisher in 1841. It is surrounded by mountains on three sides. The first one is Naina 

(2615 meters) the second is Deopatha (2438 meters) and the third is Ayarpatha (2278 meters). Naina 

is the highest mountain among the three. 

level, Nainital hill station is located at a height of 6350 feet. In winter Nainital has 

freezing cold temperature falling below zero degrees centigrade. Every year during December to 

FeburaryNainital hill station gets its annual snowfall. Summer season is also very cool in Nainital. 

The highest temperature is not more than 26 degrees centigrade. So most tourists prefer to come at 

ainital tourism. 

Nainital is named after its beautiful lake Naini and it is the base for tourism here. The lake is called 

Naini because it looks like eye shape. This Lake is famed among the visitors, tourists and nature 

 

The southern end area of the lake is called Tallital and the northern end area is called Mallital. Both 

Luxurious hotels, villas, restaurants, food zones

game parlours and luxury shops. 

ch is also known as Cheena Peak is the most favourite picnic spot of Nainital. Its 

height is 2612 meters. It is 6 km far from Nainital. We can view the snow garbing Himalayas, plane 

areas, Nainital city and its locality. Naina Devi Temple is situated on the northern shore of Naini 

lake. The presiding goddess of this temple is “MaaNaina Devi” 

       

On the basis of the reading of the passage, answer the following questions in brief:

Nainital is surrounded by mountains on the three sides”. Give a brief description of these 

When does Nainital hill station get its annual snowfall? When do tourists prefer to visit this hill 

? Why is this lake very popular among the touris

Mention some of the features of Naina Peak. 

       

means…………………. 

travel to learn new things  (b)  enjoy visiting new places 

  (d) praise 

is ………………………… 
(b) Common     (c) Beautiful  (d) Suppressed

is………………………. 
(b) Choose     (c) Dislike  (d) Praise 
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station in Uttarakhand. It is 336 kms from Delhi which was discovered by 

Lord Barron, a Britisher in 1841. It is surrounded by mountains on three sides. The first one is Naina 

and the third is Ayarpatha (2278 meters). Naina 

level, Nainital hill station is located at a height of 6350 feet. In winter Nainital has 

de. Every year during December to 

FeburaryNainital hill station gets its annual snowfall. Summer season is also very cool in Nainital. 

The highest temperature is not more than 26 degrees centigrade. So most tourists prefer to come at 

Nainital is named after its beautiful lake Naini and it is the base for tourism here. The lake is called 

Naini because it looks like eye shape. This Lake is famed among the visitors, tourists and nature 

The southern end area of the lake is called Tallital and the northern end area is called Mallital. Both 

s hotels, villas, restaurants, food zones, shopping centres, 

ch is also known as Cheena Peak is the most favourite picnic spot of Nainital. Its 

height is 2612 meters. It is 6 km far from Nainital. We can view the snow garbing Himalayas, plane 

the northern shore of Naini 

  [2X4=8] 

On the basis of the reading of the passage, answer the following questions in brief: 

. Give a brief description of these 

When does Nainital hill station get its annual snowfall? When do tourists prefer to visit this hill 

? Why is this lake very popular among the tourists? 

   [1X 4=4] 

Suppressed 

  P.T.O 
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4. Beautiful is an adjective, it’s noun 
(a) Beautifully   (b) Beauty  (c) Beautify  (d) Beautified 

Q.2 Read the following passage carefully. 

 Pahom was a hard-working, honest peasant, but he had no land of his own. “Even though, we have 

 tilled mother earth since childhood,” he would often say to his family, “We peasants will always die 

 as we are living. If only we had our own land, it would be different.” 

 Very close to Pahom’s village, there lived a lady who owned an estate of about three hundred acres. 

 One winter Pahom came to know that she was going to sell her land. He also heard that a 

 neighbour of his was buying fifty acres and that the lady had agreed to accept one half of the price 

 in cash and to wait a year for the other half. 

 “We must also buy at least twenty acres,” he said to his wife.” Life is becoming worthless without 

 land of our own”. 

 So Pahom and his wife put their heads together and thought of a way to buy it. They had laid by 

 one hundred  roubles. They sold a colt and borrowed some money from a relative and thus scraped 

 together half of the money needed to purchase the land. Having done this, Pahom chose a farm of 

 forty acres and went to the lady and bought it. 

 Now Pahom was a hard-working peasant. It was not difficult for him to raise a good harvest that 

 season. Within a year, he managed to pay off his debts. So, he became a landowner, ploughing and 

 sowing his own land, making hay in his own land and feeding his cattle on his own pasture. 

 Whenever he went to plough his fieldshis heart would fill with joy. The grass that grew and the 

 flowers that bloomed there, seemed to him unlike any that grew elsewhere. 

 Then, one day, Pahom happened to meet a peasant who had come from beyond the Volga river 

 where he was working. One word led to another and the man went on to say that much land was 

 for sale there.”It was so good,”he said, “that the rye sown on it grew as high as horse and so thick 

 that five cuts a sickle made sheaf.” 

 Pahom’s heart was filled with desire. “Why should I suffer in this narrow hole” he thought, “if one 

 can live so well elsewhere?” So Pahom sold his land and homestead and cattle, all at a profit and 

 moved his family to the new settlement. Everything the peasant had told him was true and Pahom 

 was ten times better off than he had been -He bought plenty of arable land and pasture and could 

 keep as many heads of cattle as he liked. 

2.1 Answer the following Questions briefly.            [1+1+1+1=4] 

1. Who was Pahom ? What was it that he always regretted ? 

2. What did he come to know one day ? What did he decide? 

3. How did he manage to buy a farm of forty acres? 

4. Why did Pahom sell his land and homestead? Was it a wise decision? 

2.2  Vocabulary:                [1+1+1+1=4] 

1. Pick out a word from the above passage that means the same as ‘grassland for grazing cattle’. 

2. Give the opposite of ‘accept’ in para 2. 

3. Give another word for ‘peasant’ 

4. Give the noun form of ‘high’. 
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                Section B - (Writing+ Grammar+ Vocabulary) [40] 

Q.3  Read the following outlines and develop then into readable story                       [7] 

 A rich man with many servants ---------finds his cash box missing - - - - -  searches for the missing 

 box but in vain - - - - - - - - - - - - suspects one of his  servants - - -------thinks of a plan-----------calls 

 his servants-------gives each a  stick - - - - - - - - says the thief's stick will grow longer by an 

 inch - - - - - asks  the servants to bring the stick the next day for inspection - - - - - - - - - the thief 

 cuts an inch off the end of his stick-------------- caught the next day - - - - - - - -  admits his guilt.  

Q.4.  Write a newspaper report on the National Film Festival Awards function organised  in  

 your city. You may use these guidelines                                                             [4] 

� date and venue 

� organisers 

� the presiding guest and invitees 

� highlights of the awards presentation ceremony 

� special performance 

� viewer’s comment 
Q.5   Complete the dialogues given below by filling the gaps-                                  [4] 

Neeraj  : You are busy packing. (i)______________? 

Dheeraj : Yes, I am  going to Delhi tomorrow. 

Neeraj  : (ii)______________? 

Dheeraj : I shall be back next week. 

Neeraj  : (iii)_______________? 

Dheeraj : Definitely  My old clothes are worn out. I need to buy new  ones. 

Neeraj  : Ok then, Please buy a pair of Jeans for me also. 

Dheeraj : (iv) _______________? 

Neeraj  : My waist is 30 and I want a royal blue colour. 

Grammar 

Q.6  Fill in the blanks with correct modal:-               [½x4=2] 

 There are many things which (i)_______________(would/will/can/must) not be sold or bought. 

 Mother’s love is such a thing. Mother (ii)___________(can/will/would/might) sacrifice her 

 comforts so that the child (iii)________________(will/may/shall/can) not be disturbed. Therefore a 

 child (iv)______________(can/will/should/could) respect the emotions of his mother. 

Q.7   Change the following into indirect speech       [1x2 =2] 

(a) My mother said to me, “Have you completed your work” ? 

(b) He said to her, “Yesterday I gave you my story book”. 

  Q.8.   Insert the adverbs given in the brackets in their correct places.     [1x2 =2] 

(a) They arrive on time (never)   

(b) He makes a mistake (rarely)  

Q.9  Fill in the blanks with prepositions        [1x2 =2]

 (a) The land was distributed ______________the two sons. 

 (b)  Nisha is confident _______________her success. 

Q.10  Fill in the blanks with conjuctions:        [1x2 =2] 

(a) You will gets success_____________you are honest. 

(b) Make hay____________the sun shines. 

           P.T.O 
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Q.11    Choose the adjectives and write their kinds:      [1x2 =2] 

(a) Mr. Singh is an industrious person. 

(b) These apples are fresh 

Q.12    Rearrange the following words/phrases to make meaningful sentences :     [1x2 =2] 

(a) was a / about twenty/ childhood/delight/years ago 

(b) Work and play/ different things/they see / as two 

Q.13  This following passage has not been edited. There is an error in each line.  

    Write the incorrect and correct words.       [½x8=4]

        Incorrect     Correct 

 Stainless steel who is a very useful               (a)__________  ____________ 

 metal contain 18 % chromium, 8 % nickel        (b)___________ ____________ 

 apart by steel. In India, for making stainless    (c)___________ ____________ 

 steel, manganese is use instead of nickel         (d)___________ ____________ 

 because availability to nickel is rare in our       (e)___________ ____________ 

 country. Stainless steel have some special       (f)___________  ____________ 

 characteristics---chromium stops it by rusting   (g)___________ ____________ 

 and it is also not affecting by acids and alkalies.  (h)__________  _____________ 

VOCABULARY 

Q.14    Make sentence with these phrasal verbs                    [1x2 =2] 

(a) See off       (b)  Hold up 

Q.15.    Do as directed          [1x5=5]  

(a) Popular (change it into verb form) 

(b) Sufficient (write opposite of it) 

(c) Prefer (from noun form) 

(d) Slender (write synonym) 

(e) Vice (write antonym of it) 

                      Section C-Literature                  [20] 

 Q.16  Read the following extract and answer the questions.  (any one)        [4] 

(a) “But he can’t resist going through a locked suitcase”. 

(i) Who is speaking to whom? 

(ii) Who is ‘he’ here? 

(iii) According to the speaker, with which disease was ‘he’ suffering from? 

(iv) Why did the speaker say so? 

OR 

(b)  All things that love the sun are out of doors;      

 The sky rejoices in the morning’s birth  

 The grass is bright with rain-drops on the moors. 

 The hare is running races in her mirth. 

 

(i) Why are all things out of doors? 

(ii) Which poetic device has been used? 

(iii) Write the rhyme scheme of these four lines? 

(iv) Name the poem and the poet. 
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Q.17     Answer these Questions. (30-40 words)        [2X3=6]  

(a) Describe the manner of the stranger’s arrival at the inn. 

(b) Who was Manuel? Why did he kidnap Buck? 

(c) Explain these lines:- 

 
 ‘The friends, so link’d together, 

 I’ve seen around me fall, 

 Like leaves in wintry weather. 

Q.18    Write the character sketch of Hamlet.  (40-50 words)       [3]  

Q.19    Wilfrid the snatcher was unwelcomed and snubbed when he was poor and an orphan because he 

 had a serious problem. But now that he is wealthy, the problem does not seem serious anymore.  

 Do you think our opinion of others is determined by wealth and social standing, how? 

  (40-50 words)            [3] 

Q.20  We have seen ill treatment meted out to animals by human being while they are used for different 

 works. With reference to the text ‘Leaving the valley’ suggest, how can these animals be protected 

 from human atrocities? (60-70 words)        [4] 
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Attempt all questions. However there are internal choices. Omission of steps result in omission of marks. Do 

the rough work at the right side of margin.

                                                                      

1. In a class of 50 students, 8% were absent on one day. Find the number of students present on that day.

2. Convert 1 hectare into cm
2
. 

3. Find :  (5
7
 ÷ 5

6
)
2
 

4. Draw a geometrical figure having rotational symmetry. Write its order and degree of rotation.

 

                                                                       

5. In a right angled triangle ABC, if 

AB. 

6. (a) What ratio is equal to 225% ?

(b) What percent is equal to 5.2 ?

7. What percent is 25ml of 5 litres ? 

8. A table top is semicircular in shape with 

9. The length of a side of square is 2x

10. Express 648 in exponential notation.

                                                                         

11. Two angles are making a linear pair. If one of them is one

12. Each of the two equal angles of an isosceles triangle is four times the third angle. Find the 

the triangle. 

13. A body floats 2/9 of its volume above the surface. What is the ratio of the body’s submerged volume 

to its exposed volume ? Rewrite it as a rational number.

14. Draw a triangle ABC with ∠C a right angle, AB = 6.2cm and BC = 4.5cm. Write

construction. 

15. Circumference of a circle is 33cm. Find its area.

16. (a) Subtract  2 (ab + bc + ca)  from  

OR 

 (b) Subtract  the sum of  – 3x
3
y

2
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Attempt all questions. However there are internal choices. Omission of steps result in omission of marks. Do 

the rough work at the right side of margin. 

                                                                      Section – A                                             (1 x

In a class of 50 students, 8% were absent on one day. Find the number of students present on that day.

Draw a geometrical figure having rotational symmetry. Write its order and degree of rotation.

                                                                       Section – B                                          (2 x 6 = 12)

In a right angled triangle ABC, if ∠B = 90
O
, BC = 3cm and AC = 5cm, then find the length of side 

What ratio is equal to 225% ? 

What percent is equal to 5.2 ? 

 

A table top is semicircular in shape with diameter 2.8m. Find the area of this tabletop.

x + 3. Write the expression for perimeter of the square.

Express 648 in exponential notation. 

                                                                         Section – C                                          (3 x

Two angles are making a linear pair. If one of them is one-third of the other, find the angles.

Each of the two equal angles of an isosceles triangle is four times the third angle. Find the 

A body floats 2/9 of its volume above the surface. What is the ratio of the body’s submerged volume 

to its exposed volume ? Rewrite it as a rational number. 

C a right angle, AB = 6.2cm and BC = 4.5cm. Write

Circumference of a circle is 33cm. Find its area. 

Subtract  2 (ab + bc + ca)  from  –ab – bc – ca. 

2
 + 2x

2
y

3
  and  – 3x

2
y

3
 – 5y

4
  from  x

4
 + x

3
y

2
 + x

                          

Mathematics 

Attempt all questions. However there are internal choices. Omission of steps result in omission of marks. Do 

x 4 = 4) 

In a class of 50 students, 8% were absent on one day. Find the number of students present on that day. 

Draw a geometrical figure having rotational symmetry. Write its order and degree of rotation. 

6 = 12) 

, BC = 3cm and AC = 5cm, then find the length of side 

diameter 2.8m. Find the area of this tabletop. 

+ 3. Write the expression for perimeter of the square. 

x 8 = 24) 

third of the other, find the angles. 

Each of the two equal angles of an isosceles triangle is four times the third angle. Find the angles of 

A body floats 2/9 of its volume above the surface. What is the ratio of the body’s submerged volume 

C a right angle, AB = 6.2cm and BC = 4.5cm. Write the steps of 

+ x
2
y

3
 + y

4
. 
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17. Evaluate  : (a)   
�� × �����	�


�� × ����	�
  

                                           OR 

   (b) 

� × �
 × ���

�
 × �
 × ��� 

18. Write two alphabets having rotational symmetry and two alphabets having 2 lines of symmetry. Also 

write two alphabets having no symmetry. 

                                                                 Section – D                                                  (4 x 10 = 40) 

19. Find the values of the angles x, y, z in the following figure :  

 

20. A tree broke at a point but didn’t separate. Its top touched the ground at a distance of 6 dm from its 

base. If the point where it broke be at a height of 2.5dm from the ground, what was the total height of 

the tree before it broke ? 

21. (a) If Mahohar pays an interest of Rs. 750 for 2 years on a sum of Rs. 4500, find the rate of interest. 

OR 

(b) Fatima donates Rs. 2000 to a school, the interest on which is to be used for awarding 5 

scholarship of equal value every year. If the donator earns an interest of 10% per annum, find the 

value of each scholarship. 

22. (a) Karim bought 150 dozen pencils at Rs. 10 a dozen. His overhead expenses were Rs. 100. He 

sold them at Rs. 1.20 each. What was his profit or loss percent ? 

OR 

(b) S.P. of 10 articles is the same as the CP of 11 articles, find gain percent. 

23. What should be subtracted from  ��
�  –  �

��  to get  
–�

   ? 

24. Construct ∆PQR if  PQ = 5cm,  m∠PQR = 105
O
 and m∠QRP = 40

O
, construct 105

O
 with the help of 

compass. Write the steps of construction. 

 

 

 



8 

 

 

25. (a) Ramesh grew plants in a rectangular field that measured 32m long and 26m wide. This year he 

increased the area for plants by increasing the length but not the width. He increased the area of 

plantation by 650 sq.m. What is the length of the expanded field ? What moral value do you 

gather from Ramesh’s work ? 

OR 

(b) Priyanka took a wire and bent it to form a circle of radius 14cm. Then she bent it into a rectangle 

with one side 24cm long. What is the length of the wire ? Which figure encloses more area, the 

circle or the rectangle ? 

26. (a) Two cross roads, each of width 5m run at right angles through the centre of a rectangular park of 

length 70 m and breadth 45 m and parallel to its sides. Find the area of roads, Also find the cost of 

constructing the roads at the rate of Rs. 105 per m
2
.  

      
 OR 

(b) Area of an isosceles triangle is 48cm
2
. If the altitudes corresponding to the base of the triangle is 

8cm; find the perimeter of the triangle. 

27. If A = 3x
2
 – 4x + 1,  B = 5x

2
 + 3x – 8 and C = 4x

2
 – 7x + 3 then find (A + B) – C. 

28. Simplify : 

 
(�
)� × (��)� × (��)�

(��)� × (��)� × (��)� 

* * * 
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Q.1 Choose and write the correct option

      (a)  Which of the following is a correct statement?

     (i) Every objects move with a constant speed

     (ii) The basic unit of time is second

     (iii) The time period of a simple pendulum is constant

    (iv) The speed of a train is 

 (b) Who discovered that when a compass needle is kept nearer to an electric circuit in which

        current is flowing, deflects 

      (i) Galileo         (ii) Newton          (iii) Hans Christian Oersted     

      (c) Which of the following is a scalar quantity?

      (i) Force      (ii) distance          (iii) velocity  

      (d) Which of the following is not a method to increase the strength of an electro magnet?

      (i) increase the number of windin

      (iii) increase the resistance of the wire           (iv) use soft iron as the core.

Q.2 Answer in short: 
       (a) What are vector quantities?                                       

       (b) Mention two problems associated with the heating effect of electric current.                                [1]

Q.3 Answer as directed: 
      (a) (i) What are the factors on which time period of a pendulum depend?

           (ii)Calculate the time period of a pendulum if it oscillates 20 times in 32 seconds.           

       (b) What is fuse? How does it work?                                     

       (c) (i) Write any two factors on which the heating eff

           (ii) When the current is switched on through a wire, a magnetic needle kept nearby deflects

                        from its north south direction. Why?    

Q.4 Answer in detail: 
   (a) Describe the working of an electric bell.                         

    (b) A train is travelling at a speed of 110 km/hr. How long will it take to complete a journey of 

      605 km, without any stoppage in between?

     (c) What is a circuit diagram ? Draw an open and closed circuit diagram consisting of a battery,

        bulb and a switch.                                

   Q.5.  Choose and answer any one of the following:

  (a) Draw the Distance –Time graph for the motion in the following cases.

                             (i)  car moving with constant speed

                            (ii)  car parked on a road side
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PHYSICS 

Choose and write the correct option:                  

(a)  Which of the following is a correct statement? 

(i) Every objects move with a constant speed 

(ii) The basic unit of time is second 

(iii) The time period of a simple pendulum is constant 

d of a train is expressed in m/h 

(b) Who discovered that when a compass needle is kept nearer to an electric circuit in which

(ii) Newton          (iii) Hans Christian Oersted      (iv) Faraday

h of the following is a scalar quantity? 

(ii) distance          (iii) velocity    (iv) displacement

(d) Which of the following is not a method to increase the strength of an electro magnet?

(i) increase the number of windings               (ii) increase the current 

(iii) increase the resistance of the wire           (iv) use soft iron as the core.

(a) What are vector quantities?                                           

ntion two problems associated with the heating effect of electric current.                                [1]

What are the factors on which time period of a pendulum depend? 

Calculate the time period of a pendulum if it oscillates 20 times in 32 seconds.           

) What is fuse? How does it work?                                         

Write any two factors on which the heating effect of electricity depend. 

When the current is switched on through a wire, a magnetic needle kept nearby deflects

uth direction. Why?         

f an electric bell.                             

(b) A train is travelling at a speed of 110 km/hr. How long will it take to complete a journey of 

605 km, without any stoppage in between?     

(c) What is a circuit diagram ? Draw an open and closed circuit diagram consisting of a battery,

bulb and a switch.                                      

the following:      

Time graph for the motion in the following cases.  

(i)  car moving with constant speed 

(ii)  car parked on a road side       

DELHI PUBLIC SCHOOL 
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         [1×4= 4] 

(b) Who discovered that when a compass needle is kept nearer to an electric circuit in which 

(iv) Faraday 

(iv) displacement 

(d) Which of the following is not a method to increase the strength of an electro magnet? 

(iii) increase the resistance of the wire           (iv) use soft iron as the core. 

     [1] 

ntion two problems associated with the heating effect of electric current.                                [1] 

Calculate the time period of a pendulum if it oscillates 20 times in 32 seconds.                      [2] 

   [2] 

When the current is switched on through a wire, a magnetic needle kept nearby deflects 

   [2] 

   [3] 

(b) A train is travelling at a speed of 110 km/hr. How long will it take to complete a journey of  

   [3]                                           

(c) What is a circuit diagram ? Draw an open and closed circuit diagram consisting of a battery, 

   [3] 

               

  P.T.O 
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             (b)  Construct Distance –Time graph for the following data and calculate the speed graphically.  

            Also calculate the distance travelled in 4.5 min               [2+ 3= 5] 

Distance in km 10 20 30 40 50 60 

Time in min. 1 2 3 4 5 6 

       OR 

       (a) Describe a simple pendulum with a labelled diagram 

       (b) Represent the composition of different gases in atmosphere in a pie chart 

                       Nitrogen      78%,  Oxygen     21%,  other gases 1%          [2+ 3= 

5] 

      CHEMISTRY  

Q.1 Choose and write the correct option:                  [1×3= 3]

  

a) Micro organisms act upon the dead plants to produce 

(i) Sand    (ii) Mushroom   (iii) Humus   (iv) Wood 

b) The uppermost branches and leaves of tall trees acting like a roof is the  

(i) Canopy                 (ii) Understorey               (iii) Herb layer   (v) Shrub layer 

c) Plastic is a ……………………. Waste 

 (i) Biodegradable   (ii) Non biodegradable   (iii) Metallic   iv) Foul 

Q.2 Answer in short:                 [1×3= 3] 

a) Why care should be taken while handling acids and bases? 

b) When is world water day celebrated? 

c) Name two water borne diseases. 

Q.3 Answer as directed:             [2x5=10] 

 (a)   (i)   Define neutralization reaction. 

      (ii)  Write the word equation for the reaction between sodium hydroxide and hydrochloric acid. 

(b)  There are two solutions, Solution ‘A’ and solution B’. phenolphthalein turns pink in ‘B’ 
     but remains colourless in ‘A’ 
 (i)   What can be the nature of ‘A’? 

 (ii)  What is the nature of ‘B’? 

 (iii) Suggest the colour of turmeric  solution in ‘B’. 

(c)  (i) What is the importance of the process of decomposition in the forest? 

   (ii) Mention two uses of humus 

    (d)  (i) Define sewage. 

           (ii) State the difference between aerobic bacteria and anaerobic bacteria. 

     (e)  (i) Why should oils and fats be not released in the drain? Explain 

 (ii)Name any two alternative arrangements for sewage disposal. 

Q.4  Answer in detail:          [3x2=6] 

A.      (a) Name one strong acid and a weak acid. 

            (b) What colour do the following indicators turn when added to a base? 

                        (i) Red litmus solution               (ii) China rose indicator  

                    (iii) Phenolphthalein   (iv)Turmeric solution 

  B.   (a) Draw a flow chart to show how forests help in maintaining the balance of carbon    

   dioxide and oxygen in atmosphere. 

         (b) State any four ill effects of deforestation.  
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Q.5.  Choose and answer any one of the following:       [5x1=5] 

        (a) Name the technique of watering plants which minimize the wastage of water 

(b) Draw a labelled diagram of the above technique 

(c) State one advantage and one disadvantage of this method 

OR 

         (a) Draw a labelled diagram of water table, ground water and aquifer. 

            (b) How the ground water is recharged? 

            (c) Which natural process continuously converts some of the saline sea water into fresh 

water? 

            (d) What is hardness of water? 

        BIOLOGY 
Q.1  Choose and write the correct option--                    [1x 2=2] 

              (a)  Which of these seeds are disperse by wind— 

                    (i) cotton and maple                         (ii) cotton and xanthium 

                    (iii) madar and xanthium                (iv) lotus and maple 

               (b) Aquatic animals excrete waste in the surrounding water in the form of— 

                  (i) urea                                                 (ii) uric acid 

                (iii) ammonia                                      (iv) nitrogen 

  Q.2  Answer in short:                                 [1x3=3] 

            (a)   Where are pollen grains produced? What do they contain? 

            (b)   What is role of the septum in the heart? 

             (c)    Why do we get muscle cramps after a heavy exercise? 

  Q.3 Answer as directed:                                       [2x4= 8] 

           (a)  Draw and label a diagram showing spore formation in fungi. 

             (b)  How is cellular respiration different from breathing? (2 points) 

           (c)  Draw a diagram to show different regions of the soil profile and label them. 

             (d)  Plants do not have respiratory organs but still they breathe. How? 

 Q.4 Answer in detail:                                         [3x3= 9] 

               (a) Write three points of difference between sandy and clayey soil. 

               (b) Define the following terms related to processing of wool-  

                     (i) shearing        (ii) scouring               (iii) sorting 

              (c)  Sohan is a chain smoker. His friend, Amit, always warns him about the dangers of smoking   

               cigarettes and urges him to quit it as soon as possible. 

                   (i)  Why is smoking injurious to health? 

                   (ii) Which harmful chemical is present in cigarette smoke? Which organ does it affect ? 

                   (iii) What values does Amit show? 

Q.5  Choose and answer any one of the following-               [1x5= 5] 

                     (a) Draw a well labeled schematic diagram to show circulation in humans. 

                     (b) Explain double circulation in humans. 

                                                       OR 

                       (a) Name the four main blood vessels associated with the heart and  write the function of each. 

                       (b) Draw a diagram to show transpirational pull in plants.  

 

 

 



 

      DELHI PUBLIC SCHOOL
            SAIL TOWNSHIP, RANCHI

                         ANNUAL EXAMINATION 
           Class:- VII                                                      

                 Time-  2 ½ Hrs.                                                                

Q.1 Answer the following questions

 (a) Who were the Maha-Samanta

 (b) Rulers of the Tripartite Struggle fought to control which area?
 (c) Why was Hampi famous in Medieval India?

 (d) How does the place Masulipatnam derive its name?

 (e) Who were the tribal people as mention in the ch

 (f) What is Guru Granth Sahib and when was it compiled?

 (g) Who was the Jat leader under whom they consolidated their power?

 (h) Who introduced the Guerilla Warfare technique in war?

 (i) In which year did the Sikhs organize

     and Mughals? 

Q.2 Answer the following questions in short :

 (a)  Citing reasons how the Rastrakutas became powerful explain what did 

       to gain acceptance?             

 (b) As unprecendented explorations of sea routes took place around 15

       did people from distant lands visit Surat?

 (c)  Do you think merchants and bankers today have the kind of influence they had in the 

      18th century? 

Q.3 Answer the following questions in detail:

 (a)  Explain the idea of a Supreme God with the emergence of two religio

      Gods they worshipped in South India. How did the beliefs

       each other?      

 (b) Explaining the difference in the history of Gonds and Ahoms

     Mughals  in the Land of Gonds?
  

Q.1 Answer the following questions in very short:

 (a) How can new opportunities be created for women today?

 (b) Who is Laxmi Lakra as given in the Chapter “W

 (c) Name the person who invented printing machine and printed the first page of the Bible.
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HISTORY 

Answer the following questions            

Samantas? 

Rulers of the Tripartite Struggle fought to control which area? 
Why was Hampi famous in Medieval India? 

Masulipatnam derive its name? 

Who were the tribal people as mention in the chapter Tribes, Nomads and settled

uru Granth Sahib and when was it compiled?                        (½ + ½=1)

Who was the Jat leader under whom they consolidated their power? 

Who introduced the Guerilla Warfare technique in war? 

In which year did the Sikhs organize themselves as Khalsa and fought against the Rajputs 

Answer the following questions in short :-      

Citing reasons how the Rastrakutas became powerful explain what did the new dynasties do 

                                       (2+1=3) 

As unprecendented explorations of sea routes took place around 15th century explain why 

did people from distant lands visit Surat?      

Do you think merchants and bankers today have the kind of influence they had in the 

Answer the following questions in detail:-       

Explain the idea of a Supreme God with the emergence of two religious movements and the 

Gods they worshipped in South India. How did the beliefs in Islam and Sufism differ from

    (1+2+2=5) 

Explaining the difference in the history of Gonds and Ahoms, highlight the interest of 

in the Land of Gonds?      (3+2=5)     

CIVICS 

Answer the following questions in very short:-     

How can new opportunities be created for women today? 

n in the Chapter “Women can change the world?

Name the person who invented printing machine and printed the first page of the Bible.

DELHI PUBLIC SCHOOL 

                           
  Social Science 

80 

         [1x9=9] 

  

  
  

  

Nomads and settled community? 

+ ½=1) 

  

  

themselves as Khalsa and fought against the Rajputs  

  

       [3x3=9] 

the new dynasties do  

century explain why  

               

Do you think merchants and bankers today have the kind of influence they had in the  

  

     [5x2=10] 

us movements and the  

in Islam and Sufism differ from  

highlight the interest of  

   

     [1x5=5] 

  

world?   

Name the person who invented printing machine and printed the first page of the Bible. 
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 (d) State two values promoted by a social advertisement?                   (½ + ½ =1) 

 (e) What is the origin of the word branding?   

    Q.2 Answer the following questions in short :            [3x3=9]                                                                        

 (a)  Why is 8th March International Women’s Day celebrated and what special  have the 

     women  achieved by the day?   

 (b)  List three things that you know about some other part of the world from watching  

      television.   

 (c) Give three reasons why advertising is essential for the sale of a product.   

Q.3 Answer the following questions in detail.           [5x2=10] 

 (a) Explaining the role of constitution in people struggle for equality suggest how the Indian  

      constitution can also be called a living document.  (2+3=5) 

 (b) With the help of a neat sketch or a flow chart explain the chain of markets and why is a  

      wholesaler trader necessary in the above process. Support your point with appropriate  

       examples.                      (2+2+1=5)         

GEOGRAPHY 
Q.1  Answer the following questions in one word or one sentence:-         [1X6=6] 

a) Which  layer of the atmosphere is most important for us?     

b) What do you mean by ‘Global Warming’?       

c) Which Mediterranean region is known as ‘Orchards of the world’?     

d) Which forest is called ‘Lungs of the Earth’?      

e) What is the other name of Tropical grassland in Brazil?      

f) Define Transhumance.          

Q.2 Answer the following questions in short :-       [3X3=9] 

a)   i. Name the instrument used to record earthquake tremors.       (1+2=3) 

     ii. Write about the different types of forces.        

b)    Explain any three features made by a river in a floodplain.      

c)   Discuss the three type winds with the help of examples.      

Q.3 Answer the following questions in detail :-                   [5X2=10] 

a) i. What do you know about the importance of tides?          (1+2+2=5) 

ii. Define tides and how are they caused?        

iii. Draw and label the diagram of Spring and Neap tide.      

b) i. Give any two reasons why are people coming to cities and Mention two major     

   common problems in your city.           (2+3=5)   

ii. “The world has now become a large global society”- explain it.(Write three points)   

Q.4  On an outline Political map of the world locate and label the following :-   [1X3=3] 
a) Trans-Siberian Railway Line          
b) Mumbai Airport           
c) Cape Town Sea Port       

 
 



 

                                              

    d{kk& lkrd{kk& lkrd{kk& lkrd{kk& lkr                

le;&2le;&2le;&2le;&2½    ?kaVs?kaVs?kaVs?kaVs                

1. fuEufyf[kr vfuEufyf[kr vfuEufyf[kr vfuEufyf[kr vifBr xn~;ka’k dks ifBr xn~;ka’k dks ifBr xn~;ka’k dks ifBr xn~;ka’k dks /;kuiwoZd /;kuiwoZd /;kuiwoZd /;kuiwoZd 

                lnkpkj lnkpkj lnkpkj lnkpkj (vPNk vkpj.k vPNk vkpj.k vPNk vkpj.k vPNk vkpj.k 
    djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk 
xq:tuksa dks cxq:tuksa dks cxq:tuksa dks cxq:tuksa dks cpiu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]
    mlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQ
vPNh vknrksa dk fodkl dj mUgsa f’k"V vPNh vknrksa dk fodkl dj mUgsa f’k"V vPNh vknrksa dk fodkl dj mUgsa f’k"V vPNh vknrksa dk fodkl dj mUgsa f’k"V ckyd cuckyd cuckyd cuckyd cu
    lnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfl
ikyu fd;k ikyu fd;k ikyu fd;k ikyu fd;k FkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkus
tkrk gSAtkrk gSAtkrk gSAtkrk gSA    Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk 
vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd 
lp ,slk cksysa ftlls nwllp ,slk cksysa ftlls nwllp ,slk cksysa ftlls nwllp ,slk cksysa ftlls nwljksa dks uqdlku jksa dks uqdlku jksa dks uqdlku jksa dks uqdlku u gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsA

    (dddd) euq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gS

    ([k[k[k[k) ckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gS

    (xxxx) Lokoyach O;fDrLokoyach O;fDrLokoyach O;fDrLokoyach O;fDr    D;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSa

    (?k?k?k?k) lnkpkj ds dkSu &dkSu ls xq.k gSalnkpkj ds dkSu &dkSu ls xq.k gSalnkpkj ds dkSu &dkSu ls xq.k gSalnkpkj ds dkSu &dkSu ls xq.k gSa\\\\    

    (³³³³) gesa dSlk lR; cksyuk pkfg,gesa dSlk lR; cksyuk pkfg,gesa dSlk lR; cksyuk pkfg,gesa dSlk lR; cksyuk pkfg,\\\\   

2. fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&

        gesagesagesagesa    pkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjh
        gesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjh
        geus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh ls
        vkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhA
        gjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsA
        tax u gksus nsaxsAtax u gksus nsaxsAtax u gksus nsaxsAtax u gksus nsaxsA    

    Hkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gS
    IIII;kj djsa ;k okj djsa] nk;kj djsa ;k okj djsa] nk;kj djsa ;k okj djsa] nk;kj djsa ;k okj djsa] nkss ssuksa dks gh lguk gSuksa dks gh lguk gSuksa dks gh lguk gSuksa dks gh lguk gS
    rhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnk
    :l:l:l:lh ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSA
    Tkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsA
    tax u gksutax u gksutax u gksutax u gksuss ss    nsaxsAnsaxsAnsaxsAnsaxsA    

    (dddd) fo’o ’kkafr ds fy, fo’o ’kkafr ds fy, fo’o ’kkafr ds fy, fo’o ’kkafr ds fy, D;k D;k D;k D;k vko’;d gSvko’;d gSvko’;d gSvko’;d gS\\\\    

    ([k[k[k[k) dfo dks fo’o ’kkafr D;ksa pkfg,dfo dks fo’o ’kkafr D;ksa pkfg,dfo dks fo’o ’kkafr D;ksa pkfg,dfo dks fo’o ’kkafr D;ksa pkfg,\\\\            

    (xxxx) Hkkjr vkSj ikfdLrku ds Hkkjr vkSj ikfdLrku ds Hkkjr vkSj ikfdLrku ds Hkkjr vkSj ikfdLrku ds chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,

    (?k?k?k?k) *gkFk c¡Vkuk* eqgkojs dk D;k vFkZ gS*gkFk c¡Vkuk* eqgkojs dk D;k vFkZ gS*gkFk c¡Vkuk* eqgkojs dk D;k vFkZ gS*gkFk c¡Vkuk* eqgkojs dk D;k vFkZ gS\\\\

    (³³³³) dfo us cdfo us cdfo us cdfo us cPpksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gS

    (pppp) mi;qZDr mi;qZDr mi;qZDr mi;qZDr i|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaA
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                [k.M&d[k.M&d[k.M&d[k.M&d            

/;kuiwoZd /;kuiwoZd /;kuiwoZd /;kuiwoZd i<i<i<i<+sa+sa +sa+sa    rFkkrFkkrFkkrFkk    uhps fy[ks uhps fy[ks uhps fy[ks uhps fy[ks x, x, x, x, iz’uksa ds mÙkj fy[ksa&iz’uksa ds mÙkj fy[ksa&iz’uksa ds mÙkj fy[ksa&iz’uksa ds mÙkj fy[ksa&    

vPNk vkpj.k vPNk vkpj.k vPNk vkpj.k vPNk vkpj.k )pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV 
djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk 

piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]
mlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQmlds vklikl ?kkl vkSj xanxh dks lkQ    djrk gS] lw[ks iÙkksa vkSj Vgfu;ksa dks dkVdj Qsadrk gS] djrk gS] lw[ks iÙkksa vkSj Vgfu;ksa dks dkVdj Qsadrk gS] djrk gS] lw[ks iÙkksa vkSj Vgfu;ksa dks dkVdj Qsadrk gS] djrk gS] lw[ks iÙkksa vkSj Vgfu;ksa dks dkVdj Qsadrk gS] mlh izdkj ckyd mlh izdkj ckyd mlh izdkj ckyd mlh izdkj ckyd 

ckyd cuckyd cuckyd cuckyd cukuk pkfg, ftlkuk pkfg, ftlkuk pkfg, ftlkuk pkfg, ftlls vkxs pydj jk"Vª dk Hkfo"; mTTls vkxs pydj jk"Vª dk Hkfo"; mTTls vkxs pydj jk"Vª dk Hkfo"; mTTls vkxs pydj jk"Vª dk Hkfo"; mTToy gksAoy gksAoy gksAoy gksA
lnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfllnkpkj ds n~okjk gh O;fDr egku curk gSA fo’o esa izfln~f/k ikus okys ftrus Hkh egkiq#n~f/k ikus okys ftrus Hkh egkiq#n~f/k ikus okys ftrus Hkh egkiq#n~f/k ikus okys ftrus Hkh egkiq#"k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk 

FkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkusFkkA lnkpkjh dk izHkko bruk O;kid vkSj vljnkj gksrk gS fd mlds laidZ esa vkus    ij nq"Vij nq"Vij nq"Vij nq"V    Hkh Hkh Hkh Hkh 
Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk Lokoyacu lnkpkj dk xq.k gSA Lokoyach O;fDr esa ,d fo’ks"k izdkj dk rst gksrk     gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa 

vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd vkRefo’okl vkSj dqN cuus dh yyd gksrh gSA ;gh lc phtsa mls mlds y{; rd     igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj 
u gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsAu gks] vfiz; Hkh u yxsA    

euq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gSeuq"; dh euq";rk fdlesa fufgr gksrh gS\\\\    lnkpkj dk ikyu djus ls D;k ykHk gksrk gSlnkpkj dk ikyu djus ls D;k ykHk gksrk gSlnkpkj dk ikyu djus ls D;k ykHk gksrk gSlnkpkj dk ikyu djus ls D;k ykHk gksrk gS\\\\        

ckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gSckyd dks f’k"V cukuk D;ksa vko’;d gS\\\\       

D;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSaD;k fo’ks"krk,¡ gksrh gSa\\\\                            

                            

       

fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&fuEufyf[kr vifBr i|ka’k dks /;kuiwoZd i<+s rFkk fn, x, iz’uksa ds mÙkj fy[ksa%&            

pkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjhpkfg, ’kkafr] ftanxh gedks I;kjh    
gesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjhgesa pkfg, ’kkafr] l`tu dh gS rS;kjh    
geus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh lsgeus NsM+h tax Hkw[k ls] chekjh ls    
vkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhAvkxs vkdj gkFk cVk, nqfu;k lkjhA    
gjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsAgjh&Hkjh /kjrh dks [kwuh jax u ysus nsaxsA    

Hkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gSHkkjr&ikfdLrku iM+kslh] lkFk&lkFk jguk gS    
uksa dks gh lguk gSuksa dks gh lguk gSuksa dks gh lguk gSuksa dks gh lguk gS    

rhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnkrhu ckj yM+ pqds yM+kbZ] fdruk eg¡xk lkSnk    
h ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSAh ce gks ;k vesfjdh] [kwu ,d cgkuk gSA    

Tkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsATkks ge ij xqtjh] cPpksa ds lax u gksus nsaxsA    

                                

                            

chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,chp ;qn~/k D;ksa ugha gksuk pkfg,\\\\                        

\\\\                                

Ppksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gSPpksa ds fgr ds fy, D;k ladYi fd;k gS\\\\                        

i|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaAi|ka’k ds fy, mfpr ’kh"kZd fy[ksaA                        

                                                fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh    
iw.kkZad& 80iw.kkZad& 80iw.kkZad& 80iw.kkZad& 80    

pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV pfj= dh ifo=rk dks vkSj f’k"Vkpkj O;kogkfjd dq’kyrk dks izdV 
djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk djrk gSA euq"; dh euq";rk mlds pfj= esa fufgr gksrh gSA lnkpkj ds xq.kksa dk fodkl djus ds fy, ekrk&firk     vkSj vkSj vkSj vkSj 

piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]piu ls gh /;ku nsuk pkfg,A tSls ekyh ikS/kksa dks LoLFk j[kus ds fy, ikuh rFkk [kkn Mkyrk gS]    
mlh izdkj ckyd mlh izdkj ckyd mlh izdkj ckyd mlh izdkj ckyd     esa esa esa esa Hkh Hkh Hkh Hkh 

oy gksAoy gksAoy gksAoy gksA    
"k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk "k gq, mUgksaus lnkpkj dk     gh gh gh gh 

Hkh Hkh Hkh Hkh     mudkmudkmudkmudk    vuq;k;h gks vuq;k;h gks vuq;k;h gks vuq;k;h gks 
gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa gSA mlds psgjs ij ped] eu esa 
igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj igq¡pkrh gSaA lR; cksyuk Hkh lnkpkj gSA gSA gSA gSA 

    [2]    

  [2]    

    [2]    

    [2]    

  [1]    

    [1]    

    [1]    

    [1]    

    [1]    

    [1]    

    [1] 



15 

 

 

    

            [k.M&[k.M&[k.M&[k.M&[k[k[k[k            

3. LFkkuokpd rFkk ifjLFkkuokpd rFkk ifjLFkkuokpd rFkk ifjLFkkuokpd rFkk ifjeeeek.kk.kk.kk.kokpd fØ;k fo’ks"k.k esa okpd fØ;k fo’ks"k.k esa okpd fØ;k fo’ks"k.k esa okpd fØ;k fo’ks"k.k esa mnkgj.k nsrs gq, mnkgj.k nsrs gq, mnkgj.k nsrs gq, mnkgj.k nsrs gq, varj crk,¡A varj crk,¡A varj crk,¡A varj crk,¡A                 [2]    

4. (i)  fuEufyf[kr le:ih fHkUukFkZd ’kCnksa ds fuEufyf[kr le:ih fHkUukFkZd ’kCnksa ds fuEufyf[kr le:ih fHkUukFkZd ’kCnksa ds fuEufyf[kr le:ih fHkUukFkZd ’kCnksa ds okD; iz;ksx n~okjk vFkZ Li"V djsa%& okD; iz;ksx n~okjk vFkZ Li"V djsa%& okD; iz;ksx n~okjk vFkZ Li"V djsa%& okD; iz;ksx n~okjk vFkZ Li"V djsa%&                 [2]    
                        ;ksx] ;ksX;;ksx] ;ksX;;ksx] ;ksX;;ksx] ;ksX;    

 (ii)  vusd ’kCnksa ds fy, ,d ’kCn fy[ksa%&vusd ’kCnksa ds fy, ,d ’kCn fy[ksa%&vusd ’kCnksa ds fy, ,d ’kCn fy[ksa%&vusd ’kCnksa ds fy, ,d ’kCn fy[ksa%&                                    [2]    

        (dddd) ehBh ok.kh cksyus okyk &ehBh ok.kh cksyus okyk &ehBh ok.kh cksyus okyk &ehBh ok.kh cksyus okyk &    

        ([k[k[k[k) oLrq [kjhnus okyk &oLrq [kjhnus okyk &oLrq [kjhnus okyk &oLrq [kjhnus okyk &    

    (iii)  fuEufyf[kr ’kCnksa ds nks&nks i;kZ;okph ’kCn fy[ksa%& fuEufyf[kr ’kCnksa ds nks&nks i;kZ;okph ’kCn fy[ksa%& fuEufyf[kr ’kCnksa ds nks&nks i;kZ;okph ’kCn fy[ksa%& fuEufyf[kr ’kCnksa ds nks&nks i;kZ;okph ’kCn fy[ksa%&     

        ukjh] ljLorh  ukjh] ljLorh  ukjh] ljLorh  ukjh] ljLorh                                          [2]    

    (iv)  fuEufyf[fuEufyf[fuEufyf[fuEufyf[kr okD;ksa ds fyax cny dj okD; iqu% fy[ksa %& kr okD;ksa ds fyax cny dj okD; iqu% fy[ksa %& kr okD;ksa ds fyax cny dj okD; iqu% fy[ksa %& kr okD;ksa ds fyax cny dj okD; iqu% fy[ksa %&                         [2] 

  (dddd) lHkh ;qofr;k¡ fp= ns[k jgh gSaAlHkh ;qofr;k¡ fp= ns[k jgh gSaAlHkh ;qofr;k¡ fp= ns[k jgh gSaAlHkh ;qofr;k¡ fp= ns[k jgh gSaA    
        ([k[k[k[k) lHkh ukSdj NqV~Vh ij gSaAlHkh ukSdj NqV~Vh ij gSaAlHkh ukSdj NqV~Vh ij gSaAlHkh ukSdj NqV~Vh ij gSaA    

    (v)  fuEufyf[kr ,dkFkZd izrhr gksus okys ’kCnksa ds vFkZ fy[ksa %&fuEufyf[kr ,dkFkZd izrhr gksus okys ’kCnksa ds vFkZ fy[ksa %&fuEufyf[kr ,dkFkZd izrhr gksus okys ’kCnksa ds vFkZ fy[ksa %&fuEufyf[kr ,dkFkZd izrhr gksus okys ’kCnksa ds vFkZ fy[ksa %&                        [1]    
        ’kksd]  d"V’kksd]  d"V’kksd]  d"V’kksd]  d"V    

    (vi)  fuEufyf[kr fuEufyf[kr fuEufyf[kr fuEufyf[kr ’kCn esa ls fdlh ,d’kCn esa ls fdlh ,d’kCn esa ls fdlh ,d’kCn esa ls fdlh ,d    ’kCn ls izR;; rFkk ewy ’kCn vyx dj fy[ksa %& ’kCn ls izR;; rFkk ewy ’kCn vyx dj fy[ksa %& ’kCn ls izR;; rFkk ewy ’kCn vyx dj fy[ksa %& ’kCn ls izR;; rFkk ewy ’kCn vyx dj fy[ksa %&             [1] 

  f[kykM+h] ;k fy[kkoV f[kykM+h] ;k fy[kkoV f[kykM+h] ;k fy[kkoV f[kykM+h] ;k fy[kkoV  

 (vii)  fuEufyf[kr ’kCnksa ds foykse ’kCn fy[ksa & fuEufyf[kr ’kCnksa ds foykse ’kCn fy[ksa & fuEufyf[kr ’kCnksa ds foykse ’kCn fy[ksa & fuEufyf[kr ’kCnksa ds foykse ’kCn fy[ksa &                             [1] 

  ] uwru] mUufr] uwru] mUufr] uwru] mUufr] uwru] mUufr    

    (viii)  fuEufyf[kr fojke fpg~uksa ds uke fy[ksa %& fuEufyf[kr fojke fpg~uksa ds uke fy[ksa %& fuEufyf[kr fojke fpg~uksa ds uke fy[ksa %& fuEufyf[kr fojke fpg~uksa ds uke fy[ksa %&                             [1] 

      (dddd) o            ([k[k[k[k) !!!!        

[k.M&x[k.M&x[k.M&x[k.M&x    
5. fuEufyf[kr iz’uksa ds laf{kIr mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds laf{kIr mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds laf{kIr mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds laf{kIr mÙkj fy[ksa%&                                                 [1x8=8]    

    (i)  Mk0 tkfdj gqlSu rFkk tokgj yky usg: ds xqykc ds izfr izse esa D;k varj FkkMk0 tkfdj gqlSu rFkk tokgj yky usg: ds xqykc ds izfr izse esa D;k varj FkkMk0 tkfdj gqlSu rFkk tokgj yky usg: ds xqykc ds izfr izse esa D;k varj FkkMk0 tkfdj gqlSu rFkk tokgj yky usg: ds xqykc ds izfr izse esa D;k varj Fkk\\\\    

    (ii)  gkfjy dks dfo us D;k dg dj mM+us dh izsj.kk nh gSgkfjy dks dfo us D;k dg dj mM+us dh izsj.kk nh gSgkfjy dks dfo us D;k dg dj mM+us dh izsj.kk nh gSgkfjy dks dfo us D;k dg dj mM+us dh izsj.kk nh gS\\\\    

    (iii)  dkUgk vkSj cyjke fdl izdkj >xM+ jgs FksdkUgk vkSj cyjke fdl izdkj >xM+ jgs FksdkUgk vkSj cyjke fdl izdkj >xM+ jgs FksdkUgk vkSj cyjke fdl izdkj >xM+ jgs Fks\\\\    

 (iv)  eksrh yky ds LoHkko dh fdUgha nks fo’ks"krkvksa dk mYys[k djsaAeksrh yky ds LoHkko dh fdUgha nks fo’ks"krkvksa dk mYys[k djsaAeksrh yky ds LoHkko dh fdUgha nks fo’ks"krkvksa dk mYys[k djsaAeksrh yky ds LoHkko dh fdUgha nks fo’ks"krkvksa dk mYys[k djsaA    

    (v)  *u, lekt ds fy,* dfork ds vk/*u, lekt ds fy,* dfork ds vk/*u, lekt ds fy,* dfork ds vk/*u, lekt ds fy,* dfork ds vk/kkj ij crk,¡ fd dfo us ns’kokflkkj ij crk,¡ fd dfo us ns’kokflkkj ij crk,¡ fd dfo us ns’kokflkkj ij crk,¡ fd dfo us ns’kokfl;ksa ds fy, D;k;ksa ds fy, D;k;ksa ds fy, D;k;ksa ds fy, D;k    dkeuk dh gSdkeuk dh gSdkeuk dh gSdkeuk dh gS\\\\        
                        fdUgha nks ckrksa dk mYys[k djsaAfdUgha nks ckrksa dk mYys[k djsaAfdUgha nks ckrksa dk mYys[k djsaAfdUgha nks ckrksa dk mYys[k djsaA    

    (vi)  cyoar cyoar cyoar cyoar dkSu FkkdkSu FkkdkSu FkkdkSu Fkk\\\\    dSls irk pyrk gS dSls irk pyrk gS dSls irk pyrk gS dSls irk pyrk gS fd fd fd fd og og og og bZekunkj FkkbZekunkj FkkbZekunkj FkkbZekunkj Fkk\\\\    

    (vii)  ’kgjksa esa unh ds lkFk dSlk O;gkj fd;k tkrk gS’kgjksa esa unh ds lkFk dSlk O;gkj fd;k tkrk gS’kgjksa esa unh ds lkFk dSlk O;gkj fd;k tkrk gS’kgjksa esa unh ds lkFk dSlk O;gkj fd;k tkrk gS\\\\    

    (viii)  xzh"e _rq ds tkus ij dkSu lh _xzh"e _rq ds tkus ij dkSu lh _xzh"e _rq ds tkus ij dkSu lh _xzh"e _rq ds tkus ij dkSu lh _rq vkrh gSrq vkrh gSrq vkrh gSrq vkrh gS\\\\    eeeeksj vkSj isM+ &ikS/kksa ij bl _ksj vkSj isM+ &ikS/kksa ij bl _ksj vkSj isM+ &ikS/kksa ij bl _ksj vkSj isM+ &ikS/kksa ij bl _rq ds vkus ij D;k rq ds vkus ij D;k rq ds vkus ij D;k rq ds vkus ij D;k     
                            izHkko iM+rk gSizHkko iM+rk gSizHkko iM+rk gSizHkko iM+rk gS\\\\    

6. (i)  fuEufyf[kr i|ka’k ds vFkZ fy[ksa %& fuEufyf[kr i|ka’k ds vFkZ fy[ksa %& fuEufyf[kr i|ka’k ds vFkZ fy[ksa %& fuEufyf[kr i|ka’k ds vFkZ fy[ksa %&                                     [2] 

                djgq dysÅ dkUg fi;kjs!djgq dysÅ dkUg fi;kjs!djgq dysÅ dkUg fi;kjs!djgq dysÅ dkUg fi;kjs!    
                        Ekk[ku jksVh fn;kS gkFk ij cfy&cfy tkÅ¡ tq [kkgq yyk jsAEkk[ku jksVh fn;kS gkFk ij cfy&cfy tkÅ¡ tq [kkgq yyk jsAEkk[ku jksVh fn;kS gkFk ij cfy&cfy tkÅ¡ tq [kkgq yyk jsAEkk[ku jksVh fn;kS gkFk ij cfy&cfy tkÅ¡ tq [kkgq yyk jsA    
                        Vsjr XVsjr XVsjr XVsjr Xoky n~okj gSa Bk<+s ] vk, rc ds gksr lokjsAoky n~okj gSa Bk<+s ] vk, rc ds gksr lokjsAoky n~okj gSa Bk<+s ] vk, rc ds gksr lokjsAoky n~okj gSa Bk<+s ] vk, rc ds gksr lokjsA    

 (ii)  Hkko Li"V djsa%& Hkko Li"V djsa%& Hkko Li"V djsa%& Hkko Li"V djsa%&                                             [2]    
            vkSj vkt vkSj vkt vkSj vkt vkSj vkt     
            Åij &gh&Åij ru x, gSa&Åij &gh&Åij ru x, gSa&Åij &gh&Åij ru x, gSa&Åij &gh&Åij ru x, gSa&    
            rqEgkjs racw!rqEgkjs racw!rqEgkjs racw!rqEgkjs racw!    
            vkSj vktvkSj vktvkSj vktvkSj vkt    
            Nedk jgh gS ikol jkuhNedk jgh gS ikol jkuhNedk jgh gS ikol jkuhNedk jgh gS ikol jkuh    
            c¡wnk&c¡wfn;ksa dh viuh ik;c¡wnk&c¡wfn;ksa dh viuh ik;c¡wnk&c¡wfn;ksa dh viuh ik;c¡wnk&c¡wfn;ksa dh viuh ik;YaYaYaYa    
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7. fufufufuEufyf[kr ewY;Eufyf[kr ewY;Eufyf[kr ewY;Eufyf[kr ewY;ijd iz’uksa ds mÙkj fy[ksa%& ijd iz’uksa ds mÙkj fy[ksa%& ijd iz’uksa ds mÙkj fy[ksa%& ijd iz’uksa ds mÙkj fy[ksa%&                                                 [2x2=4] 

 (i)  ns’k ds fodkl esa fdlku rFkk etnwj ns’k ds fodkl esa fdlku rFkk etnwj ns’k ds fodkl esa fdlku rFkk etnwj ns’k ds fodkl esa fdlku rFkk etnwj oxZ dk D;k ;ksxnku gSoxZ dk D;k ;ksxnku gSoxZ dk D;k ;ksxnku gSoxZ dk D;k ;ksxnku gS\\\\    

    (ii)  ;fn vki ij vR;kpkj gks jgk gS] rks vki vius esa fdu&;fn vki ij vR;kpkj gks jgk gS] rks vki vius esa fdu&;fn vki ij vR;kpkj gks jgk gS] rks vki vius esa fdu&;fn vki ij vR;kpkj gks jgk gS] rks vki vius esa fdu&fdu xq.kksa dk fodkl djuk pkgsaxs ftlls fd fdu xq.kksa dk fodkl djuk pkgsaxs ftlls fd fdu xq.kksa dk fodkl djuk pkgsaxs ftlls fd fdu xq.kksa dk fodkl djuk pkgsaxs ftlls fd     
                    mudk fojks/k dj ldsaA mudk fojks/k dj ldsaA mudk fojks/k dj ldsaA mudk fojks/k dj ldsaA     

8. fuEufyf[kr iz’uksa ds iz’uksa ds mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds iz’uksa ds mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds iz’uksa ds mÙkj fy[ksa%& fuEufyf[kr iz’uksa ds iz’uksa ds mÙkj fy[ksa%&                                             [2x7=14] 

 (i)  jkenhu dkSu Fkkjkenhu dkSu Fkkjkenhu dkSu Fkkjkenhu dkSu Fkk\\\\    mlds pfj= dh fdUgha rhu fo’ks"krkvksa dks fy[ksaAmlds pfj= dh fdUgha rhu fo’ks"krkvksa dks fy[ksaAmlds pfj= dh fdUgha rhu fo’ks"krkvksa dks fy[ksaAmlds pfj= dh fdUgha rhu fo’ks"krkvksa dks fy[ksaA    

 (ii)  dfo us lcls cM+k /keZ fdls dgk gSdfo us lcls cM+k /keZ fdls dgk gSdfo us lcls cM+k /keZ fdls dgk gSdfo us lcls cM+k /keZ fdls dgk gS\\\\    mUgksaus ns’kokfl;ksa dks th.kZ ean pky ls pyus ls D;ksa euk fd;k gSmUgksaus ns’kokfl;ksa dks th.kZ ean pky ls pyus ls D;ksa euk fd;k gSmUgksaus ns’kokfl;ksa dks th.kZ ean pky ls pyus ls D;ksa euk fd;k gSmUgksaus ns’kokfl;ksa dks th.kZ ean pky ls pyus ls D;ksa euk fd;k gS\\\\    

    (iii)  *?kq¡?k: viuk jkLrk [kqn cuk jgh Fkh* bl iafDr ls ?kq¡?k: *?kq¡?k: viuk jkLrk [kqn cuk jgh Fkh* bl iafDr ls ?kq¡?k: *?kq¡?k: viuk jkLrk [kqn cuk jgh Fkh* bl iafDr ls ?kq¡?k: *?kq¡?k: viuk jkLrk [kqn cuk jgh Fkh* bl iafDr ls ?kq¡?k: dh fdl fo’ks"krk dk irk pyrk gSdh fdl fo’ks"krk dk irk pyrk gSdh fdl fo’ks"krk dk irk pyrk gSdh fdl fo’ks"krk dk irk pyrk gS\\\\    

    (iv)  tkfdj lkgc ds vuqlkj xk¡/kh fgUnh ds i{k esa D;ksa Fkstkfdj lkgc ds vuqlkj xk¡/kh fgUnh ds i{k esa D;ksa Fkstkfdj lkgc ds vuqlkj xk¡/kh fgUnh ds i{k esa D;ksa Fkstkfdj lkgc ds vuqlkj xk¡/kh fgUnh ds i{k esa D;ksa Fks\\\\    

    (v)  *mM+ py gkfjy* dfork ds dfo dk uke fy[ksaA dfork ds igys in esa fruds dks *vksNk* rFkk vafre in esa *mM+ py gkfjy* dfork ds dfo dk uke fy[ksaA dfork ds igys in esa fruds dks *vksNk* rFkk vafre in esa *mM+ py gkfjy* dfork ds dfo dk uke fy[ksaA dfork ds igys in esa fruds dks *vksNk* rFkk vafre in esa *mM+ py gkfjy* dfork ds dfo dk uke fy[ksaA dfork ds igys in esa fruds dks *vksNk* rFkk vafre in esa     
                    *ikou* D;ksa dgk x;k gS*ikou* D;ksa dgk x;k gS*ikou* D;ksa dgk x;k gS*ikou* D;ksa dgk x;k gS\\\\        

    (vi)  ?kq¡?k: dk y{; D;k gS?kq¡?k: dk y{; D;k gS?kq¡?k: dk y{; D;k gS?kq¡?k: dk y{; D;k gS\\\\    *unh dk xhr* ikB ls gesa D;k f’k{kk feyrh gS*unh dk xhr* ikB ls gesa D;k f’k{kk feyrh gS*unh dk xhr* ikB ls gesa D;k f’k{kk feyrh gS*unh dk xhr* ikB ls gesa D;k f’k{kk feyrh gS\\\\    

 (vii)  eSuk dks fdl ckr dk nq[k FkkeSuk dks fdl ckr dk nq[k FkkeSuk dks fdl ckr dk nq[k FkkeSuk dks fdl ckr dk nq[k Fkk\\\\ 

9. vk’kvk’kvk’kvk’k; Li"V djsa%&  ; Li"V djsa%&  ; Li"V djsa%&  ; Li"V djsa%&                                          [2] 

  Hkxoku ds ?kj lc cjkcj gSAHkxoku ds ?kj lc cjkcj gSAHkxoku ds ?kj lc cjkcj gSAHkxoku ds ?kj lc cjkcj gSA    

10. fuEufyf[kr ifBr x|ka’k dks i<+sfuEufyf[kr ifBr x|ka’k dks i<+sfuEufyf[kr ifBr x|ka’k dks i<+sfuEufyf[kr ifBr x|ka’k dks i<+s aa aa    rFkk fn, x, iz’uksa ds mÙkj fy[ksa&rFkk fn, x, iz’uksa ds mÙkj fy[ksa&rFkk fn, x, iz’uksa ds mÙkj fy[ksa&rFkk fn, x, iz’uksa ds mÙkj fy[ksa&                                        [1x4=4]    

            b/kj ,d ubZ leL;k ls esjk ikyk iM+ x;k FkkA esjh pIiyksa dh gkyr cgqr [kjkc gks jgh FkhA ek¡ dh [kh>b/kj ,d ubZ leL;k ls esjk ikyk iM+ x;k FkkA esjh pIiyksa dh gkyr cgqr [kjkc gks jgh FkhA ek¡ dh [kh>b/kj ,d ubZ leL;k ls esjk ikyk iM+ x;k FkkA esjh pIiyksa dh gkyr cgqr [kjkc gks jgh FkhA ek¡ dh [kh>b/kj ,d ubZ leL;k ls esjk ikyk iM+ x;k FkkA esjh pIiyksa dh gkyr cgqr [kjkc gks jgh FkhA ek¡ dh [kh>    
    c<c<c<c<+rh tk jgh FkhA lkfFk;ksa dh ckrksa dks rks eSa >sy ysrk D;ksafd muls ,d&nks ?kaVs feyuk gksrk Fkk ijarq ek¡ +rh tk jgh FkhA lkfFk;ksa dh ckrksa dks rks eSa >sy ysrk D;ksafd muls ,d&nks ?kaVs feyuk gksrk Fkk ijarq ek¡ +rh tk jgh FkhA lkfFk;ksa dh ckrksa dks rks eSa >sy ysrk D;ksafd muls ,d&nks ?kaVs feyuk gksrk Fkk ijarq ek¡ +rh tk jgh FkhA lkfFk;ksa dh ckrksa dks rks eSa >sy ysrk D;ksafd muls ,d&nks ?kaVs feyuk gksrk Fkk ijarq ek¡     
    pkSchl ?kaVs mBrs cSBrs Vksdrh jgrh FkhaA ek¡ dh Vksdk&Vkdh ls Åcdj vkf[kj ,d fnu eSa mUgsa le>kus cSB x;kApkSchl ?kaVs mBrs cSBrs Vksdrh jgrh FkhaA ek¡ dh Vksdk&Vkdh ls Åcdj vkf[kj ,d fnu eSa mUgsa le>kus cSB x;kApkSchl ?kaVs mBrs cSBrs Vksdrh jgrh FkhaA ek¡ dh Vksdk&Vkdh ls Åcdj vkf[kj ,d fnu eSa mUgsa le>kus cSB x;kApkSchl ?kaVs mBrs cSBrs Vksdrh jgrh FkhaA ek¡ dh Vksdk&Vkdh ls Åcdj vkf[kj ,d fnu eSa mUgsa le>kus cSB x;kA    
    xk¡/kh th ds fopkjksa ls ysdj ljdkjhxk¡/kh th ds fopkjksa ls ysdj ljdkjhxk¡/kh th ds fopkjksa ls ysdj ljdkjhxk¡/kh th ds fopkjksa ls ysdj ljdkjh    foKkiuksa rd dk lgkjk ysdj cpr dk ikB i<+k;kAfoKkiuksa rd dk lgkjk ysdj cpr dk ikB i<+k;kAfoKkiuksa rd dk lgkjk ysdj cpr dk ikB i<+k;kAfoKkiuksa rd dk lgkjk ysdj cpr dk ikB i<+k;kA    

    (dddd) ys[kd ds le{kys[kd ds le{kys[kd ds le{kys[kd ds le{k    dkSu lh leL;k vk iM+h FkhdkSu lh leL;k vk iM+h FkhdkSu lh leL;k vk iM+h FkhdkSu lh leL;k vk iM+h Fkh\\\\    

    ([k[k[k[k) ys[kd dh ekrk dh [kh> D;ksa c<ys[kd dh ekrk dh [kh> D;ksa c<ys[kd dh ekrk dh [kh> D;ksa c<ys[kd dh ekrk dh [kh> D;ksa c<++ ++rh tk jgh Fkhrh tk jgh Fkhrh tk jgh Fkhrh tk jgh Fkh\\\\    

 (xxxx) cpr dk ikB i<+kus ds fy, ys[kd us fdu&fdu ckrksa dk lgkjk fy;kcpr dk ikB i<+kus ds fy, ys[kd us fdu&fdu ckrksa dk lgkjk fy;kcpr dk ikB i<+kus ds fy, ys[kd us fdu&fdu ckrksa dk lgkjk fy;kcpr dk ikB i<+kus ds fy, ys[kd us fdu&fdu ckrksa dk lgkjk fy;k\\\\    

    (?k?k?k?k) mi;qZmi;qZmi;qZmi;qZDr x|ka’k fdl ikB ls fy;k x;k Dr x|ka’k fdl ikB ls fy;k x;k Dr x|ka’k fdl ikB ls fy;k x;k Dr x|ka’k fdl ikB ls fy;k x;k gSgSgSgS\\\\    ikB ds ys[kd dk uke fy[ksaAikB ds ys[kd dk uke fy[ksaAikB ds ys[kd dk uke fy[ksaAikB ds ys[kd dk uke fy[ksaA    

11. laf{kIr egkHkkjr ij vk/kkfjr iz’uksa ds mÙkj fy[ksa% laf{kIr egkHkkjr ij vk/kkfjr iz’uksa ds mÙkj fy[ksa% laf{kIr egkHkkjr ij vk/kkfjr iz’uksa ds mÙkj fy[ksa% laf{kIr egkHkkjr ij vk/kkfjr iz’uksa ds mÙkj fy[ksa%                                     [1x5=5] 

 (dddd) ;qf/kf"Bj ds lkFk dqÙks ds :i esa dkSu Fkk;qf/kf"Bj ds lkFk dqÙks ds :i esa dkSu Fkk;qf/kf"Bj ds lkFk dqÙks ds :i esa dkSu Fkk;qf/kf"Bj ds lkFk dqÙks ds :i esa dkSu Fkk\\\\    og og og og ;qf/kf"Bj ds;qf/kf"Bj ds;qf/kf"Bj ds;qf/kf"Bj ds    lkFk D;ksa py jgk FkklkFk D;ksa py jgk FkklkFk D;ksa py jgk FkklkFk D;ksa py jgk Fkk\\\\    

    ([k[k[k[k) ;qf/kf"Bj ds eu esa oSjkX; mRiUu D;ksa gks x;k;qf/kf"Bj ds eu esa oSjkX; mRiUu D;ksa gks x;k;qf/kf"Bj ds eu esa oSjkX; mRiUu D;ksa gks x;k;qf/kf"Bj ds eu esa oSjkX; mRiUu D;ksa gks x;k\\\\    

    (xxxx) ;qf/kf"Bj us v’oes?k ;K ds fy, /ku dh O;oLFkk dSls dh;qf/kf"Bj us v’oes?k ;K ds fy, /ku dh O;oLFkk dSls dh;qf/kf"Bj us v’oes?k ;K ds fy, /ku dh O;oLFkk dSls dh;qf/kf"Bj us v’oes?k ;K ds fy, /ku dh O;oLFkk dSls dh\\\\    

    (?k?k?k?k)  vtqZu n~okjdk D;ksa x,vtqZu n~okjdk D;ksa x,vtqZu n~okjdk D;ksa x,vtqZu n~okjdk D;ksa x,\\\\    

    (³³³³) /k̀rjk"Vª ] dqarh vkSj xka/kkjh dh e`R;q dSls gqbZ/k̀rjk"Vª ] dqarh vkSj xka/kkjh dh e`R;q dSls gqbZ/k̀rjk"Vª ] dqarh vkSj xka/kkjh dh e`R;q dSls gqbZ/k̀rjk"Vª ] dqarh vkSj xka/kkjh dh e`R;q dSls gqbZ\\\\                

[k.M&x[k.M&x[k.M&x[k.M&x    
12. fuEufyf[kr esa ls fdlh] ,d fo"k; ij fuEufyf[kr esa ls fdlh] ,d fo"k; ij fuEufyf[kr esa ls fdlh] ,d fo"k; ij fuEufyf[kr esa ls fdlh] ,d fo"k; ij (80&10080&10080&10080&100) ’kCnksa esa ,d vuqPNsn fy[ksa&’kCnksa esa ,d vuqPNsn fy[ksa&’kCnksa esa ,d vuqPNsn fy[ksa&’kCnksa esa ,d vuqPNsn fy[ksa&                    [5]    

    (dddd) vkWuykbuvkWuykbuvkWuykbuvkWuykbu    ykbczsjhykbczsjhykbczsjhykbczsjh    

    ([k[k[k[k) dchj nkldchj nkldchj nkldchj nkl    

    (xxxx) ty gh thou gSty gh thou gSty gh thou gSty gh thou gS    

13. vki d{kk *lkr* ds Nk= fo|ky; dh rjQ ls fidfud eukus tkuk pkgrs gSaA blds fy, vkxzg djrs gq, vki d{kk *lkr* ds Nk= fo|ky; dh rjQ ls fidfud eukus tkuk pkgrs gSaA blds fy, vkxzg djrs gq, vki d{kk *lkr* ds Nk= fo|ky; dh rjQ ls fidfud eukus tkuk pkgrs gSaA blds fy, vkxzg djrs gq, vki d{kk *lkr* ds Nk= fo|ky; dh rjQ ls fidfud eukus tkuk pkgrs gSaA blds fy, vkxzg djrs gq,     

    izkpk;Z dksizkpk;Z dksizkpk;Z dksizkpk;Z dks    i= dks i= fy[ksaAi= dks i= fy[ksaAi= dks i= fy[ksaAi= dks i= fy[ksaA                                    [5]    

                            ;k ;k ;k ;k     
    *lfp= fgUnh O;kdj.k &*lfp= fgUnh O;kdj.k &*lfp= fgUnh O;kdj.k &*lfp= fgUnh O;kdj.k &Hkkx 7* uked iqLrd eaxokus gsrq laiknd dks i= fy[ksaAHkkx 7* uked iqLrd eaxokus gsrq laiknd dks i= fy[ksaAHkkx 7* uked iqLrd eaxokus gsrq laiknd dks i= fy[ksaAHkkx 7* uked iqLrd eaxokus gsrq laiknd dks i= fy[ksaA    

        

     

 



     

                                               

    d{kk& v"Ve~d{kk& v"Ve~d{kk& v"Ve~d{kk& v"Ve~                

le;&1le;&1le;&1le;&1½    ?kaVk?kaVk?kaVk?kaVk                

1. x|x|x|x|ka’ke~ ifBRok iz’ukuke~ mÙkjkf.kka’ke~ ifBRok iz’ukuke~ mÙkjkf.kka’ke~ ifBRok iz’ukuke~ mÙkjkf.kka’ke~ ifBRok iz’ukuke~ mÙkjkf.k    fy[kr &fy[kr &fy[kr &fy[kr &

476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs
rsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkfl

    fudfudfudfud"kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; 
    vusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~A

I. ,dinsu  mÙkjr & ,dinsu  mÙkjr & ,dinsu  mÙkjr & ,dinsu  mÙkjr &             

    (i) vk;ZHkVsu  d% xzUFk% jfpr%vk;ZHkVsu  d% xzUFk% jfpr%vk;ZHkVsu  d% xzUFk% jfpr%vk;ZHkVsu  d% xzUFk% jfpr%\\\\    

    (ii) rL; os/k’kkyk dq= vklhr~rL; os/k’kkyk dq= vklhr~rL; os/k’kkyk dq= vklhr~rL; os/k’kkyk dq= vklhr~\\\\    

II. ,dokD;su mÙkjr&,dokD;su mÙkjr&,dokD;su mÙkjr&,dokD;su mÙkjr&            

 (i) ,sfrgkfldóksrksfHk% fda ,sfrgkfldóksrksfHk% fda ,sfrgkfldóksrksfHk% fda ,sfrgkfldóksrksfHk% fda Kk;rsKk;rsKk;rsKk;rs\\\\    

III. fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr&         

 (i) *vklhr~* bfr ins d% ydkj%*vklhr~* bfr ins d% ydkj%*vklhr~* bfr ins d% ydkj%*vklhr~* bfr ins d% ydkj%\\\\    

        (dddd) yV~yV~yV~yV~        ([k[k[k[k) y³~y³~y³~y³~            

    (ii) *rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~

                            (dddd) vusuvusuvusuvusu        ([k[k[k[k) vk;ZHkVL; vk;ZHkVL; vk;ZHkVL; vk;ZHkVL; 

    (iii) ruSo ruSo ruSo ruSo = ----------------------------------------------------------------------------------------$$$$--------------------------------------------------------------------------------------------

        (dddd) rsu $ ,orsu $ ,orsu $ ,orsu $ ,o        ([k[k[k[k

2. i|ka’ke~ ifBRok iz’ukuke~ mÙkji|ka’ke~ ifBRok iz’ukuke~ mÙkji|ka’ke~ ifBRok iz’ukuke~ mÙkji|ka’ke~ ifBRok iz’ukuke~ mÙkjkfkfkfkf.k fy[kr.k fy[kr.k fy[kr.k fy[kr

        fxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~A
        fouSo ;kua uxkjksg.ke~AAfouSo ;kua uxkjksg.ke~AAfouSo ;kua uxkjksg.ke~AAfouSo ;kua uxkjksg.ke~AA    
        cya Lodh;a Hkofr lk/kue~Acya Lodh;a Hkofr lk/kue~Acya Lodh;a Hkofr lk/kue~Acya Lodh;a Hkofr lk/kue~A    
        lnSo iqjrks fu/ksfg lnSo iqjrks fu/ksfg lnSo iqjrks fu/ksfg lnSo iqjrks fu/ksfg pj.ke~AApj.ke~AApj.ke~AApj.ke~AA    

I. ,disnu mÙkjr & ,disnu mÙkjr & ,disnu mÙkjr & ,disnu mÙkjr &             

 (i) fut fudsrue~ dq= vfLrfut fudsrue~ dq= vfLrfut fudsrue~ dq= vfLrfut fudsrue~ dq= vfLr\\\\    

    (ii) Lodh;a lk/kua fda HkofrLodh;a lk/kua fda HkofrLodh;a lk/kua fda HkofrLodh;a lk/kua fda Hkofr\\\\    

II. ,dokD;su mÙkjr& ,dokD;su mÙkjr& ,dokD;su mÙkjr& ,dokD;su mÙkjr&             

 (i) lnSo fda dj.kh;e~lnSo fda dj.kh;e~lnSo fda dj.kh;e~lnSo fda dj.kh;e~\\\\    

III. fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr& fodYisH;% mfpra mÙkja fpuqr&         

 (i) *x`ge~* inL; fda i;kZ;ina v= *x`ge~* inL; fda i;kZ;ina v= *x`ge~* inL; fda i;kZ;ina v= *x`ge~* inL; fda i;kZ;ina v= iz;qDre~iz;qDre~iz;qDre~iz;qDre~

            (dddd) futfutfutfut        ([k[k[k[k) f’k[kjsf’k[kjsf’k[kjsf’k[kjs    

    (ii) *ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~

  (dddd) lk/kue~lk/kue~lk/kue~lk/kue~        ([k[k[k[k
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        fnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd Ldwy    
lsy Vkmuflsy Vkmuflsy Vkmuflsy Vkmuf'ki] jk¡ph'ki] jk¡ph'ki] jk¡ph'ki] jk¡ph 

                                                   okf"kZokf"kZokf"kZokf"kZd ijh{kkd ijh{kkd ijh{kkd ijh{kk  (2017-18)    
                                                                

                                                                    

fy[kr &fy[kr &fy[kr &fy[kr &                            

476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs476 res f[kzLrkCns vk;ZHkV% tUe yC/koku~ bfr rsuSo fojfprs    *vk;ZHkVh;e~* bR;fLeu~ xzUFks *vk;ZHkVh;e~* bR;fLeu~ xzUFks *vk;ZHkVh;e~* bR;fLeu~ xzUFks *vk;ZHkVh;e~* bR;fLeu~ xzUFks mfYyf[kre~A mfYyf[kre~A mfYyf[kre~A mfYyf[kre~A 
rsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkflrsu =;ksfoa’kfrres o;fl fojfpr%A ,sfrgkfldóksrksfHk% Kk;rs ;r~ ikVfyiq=e~dóksrksfHk% Kk;rs ;r~ ikVfyiq=e~dóksrksfHk% Kk;rs ;r~ ikVfyiq=e~dóksrksfHk% Kk;rs ;r~ ikVfyiq=e~    

"kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; "kk vk;ZHkVL; os|’kkyk vklhr~A vusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~A
vusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~Avusu bne~ vuqeh;rs ;r~ rL; deZHkwfe% ikVfyiq=eso vklhr~A    

                        

                        

                        

            (xxxx) yksV~yksV~yksV~yksV~    

*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~*rL; deZHkwfe%* & v= rL; ina dLeS iz;qDre~\\\\    

vk;ZHkVL; vk;ZHkVL; vk;ZHkVL; vk;ZHkVL;         (xxxx) vk;ZHkVk;vk;ZHkVk;vk;ZHkVk;vk;ZHkVk;    

--------------------------------------------------------------------------------------------    

[k[k[k[k) rsus $ ,orsus $ ,orsus $ ,orsus $ ,o            (xxxx) rsu $ ,Sorsu $ ,Sorsu $ ,Sorsu $ ,So        

.k fy[kr.k fy[kr.k fy[kr.k fy[kr    &&&&    

fxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~Afxfjf’k[kjs uuq futfudsrue~A    

    

                        

                        

                        

iz;qDre~iz;qDre~iz;qDre~iz;qDre~\\\\    

        (xxxx) fudsrue~fudsrue~fudsrue~fudsrue~                            

*ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~*ijdh;e~* inL; fda foykseina iz;qDre~\\\\    

[k[k[k[k) Lodh;e~Lodh;e~Lodh;e~Lodh;e~        (xxxx) cyacyacyacya    

                                                fo"k;&laLdr̀e~fo"k;&laLdr̀e~fo"k;&laLdr̀e~fo"k;&laLdr̀e~    
                            iw.kkZad&40iw.kkZad&40iw.kkZad&40iw.kkZad&40    

        

mfYyf[kre~A mfYyf[kre~A mfYyf[kre~A mfYyf[kre~A     xzUFk% v;a xzUFk% v;a xzUFk% v;a xzUFk% v;a 

deZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~AdeZHkwfe% ikVfyiq=eso vklhr~A    

    (½x2=1)    

    (1x1=1) 

    (1x3=3) 

    (½x2=1) 

    (1x1=1) 

    (1x3=3) 
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    (iii) *cya lk/kua Hkofr* & *cya lk/kua Hkofr* & *cya lk/kua Hkofr* & *cya lk/kua Hkofr* & v= fØ;kinav= fØ;kinav= fØ;kinav= fØ;kina    fde~fde~fde~fde~\\\\                                 

  (dddd) HkofrHkofrHkofrHkofr        ([k[k[k[k) cyacyacyacya        (xxxx) lk/kualk/kualk/kualk/kua    

3. eatw"kkr% fØ;kinkfu fpRok eatw"kkr% fØ;kinkfu fpRok eatw"kkr% fØ;kinkfu fpRok eatw"kkr% fØ;kinkfu fpRok fjDrLFkkukfu iwj;r& fjDrLFkkukfu iwj;r& fjDrLFkkukfu iwj;r& fjDrLFkkukfu iwj;r&                         (½x4=2)    

  (nsgh] py] Hkt] dq:nsgh] py] Hkt] dq:nsgh] py] Hkt] dq:nsgh] py] Hkt] dq: ) 

 (i) Roa fo|ky;a Roa fo|ky;a Roa fo|ky;a Roa fo|ky;a ------------------------------------------------------------------------------------A A A A     (iii) eg~;a tyaeg~;a tyaeg~;a tyaeg~;a tya------------------------------------------------------------------------------------AAAA    

    (ii) --------------------------------------------------------xksfoUne~AxksfoUne~AxksfoUne~AxksfoUne~A            (iv) lrra /;s;Lej.kalrra /;s;Lej.kalrra /;s;Lej.kalrra /;s;Lej.ka----------------------------------------------------------------------------AAAA    
              

4. foykseinkfu ;kst;r & foykseinkfu ;kst;r & foykseinkfu ;kst;r & foykseinkfu ;kst;r &                                     (½x4=2) 

      dddd                [k[k[k[k    
        iqjr% iqjr% iqjr% iqjr%                             vkxeue~vkxeue~vkxeue~vkxeue~    
                            Lodh;e~ Lodh;e~ Lodh;e~ Lodh;e~                                 i`"Br%i`"Br%i`"Br%i`"Br%    
        Hkhfr%Hkhfr%Hkhfr%Hkhfr%                            ijdh;e~ijdh;e~ijdh;e~ijdh;e~    
                                xeue~xeue~xeue~xeue~                                    lkgl%lkgl%lkgl%lkgl%                                                                        

5. inkfu i`Fkd~ dq:rinkfu i`Fkd~ dq:rinkfu i`Fkd~ dq:rinkfu i`Fkd~ dq:r&&&&                                        (½x6=3) 

 (i) ek/kq;Zeso ek/kq;Zeso ek/kq;Zeso ek/kq;Zeso = ----------------------------------------------------------------------------------------$$$$--------------------------------------------------------------------------------------------    

 (ii) loZesoloZesoloZesoloZeso    = ----------------------------------------------------------------------------------------$$$$----------------------------------------------------------------------------------------    

    (iii) lekuefilekuefilekuefilekuefi    = ----------------------------------------------------------------------------------------$$$$----------------------------------------------------------------------------------------    

6. funsZ’kkuqlkja ifjorZ;r& funsZ’kkuqlkja ifjorZ;r& funsZ’kkuqlkja ifjorZ;r& funsZ’kkuqlkja ifjorZ;r&                                     (½x2=1)    

    (i) ik"kk.k & ik"kk.k & ik"kk.k & ik"kk.k & (lIreh & ,dopuslIreh & ,dopuslIreh & ,dopuslIreh & ,dopus) -  ----------------------------------------------------------------------------------------    

    (ii) ;ku & ;ku & ;ku & ;ku & (f}rh;k & cgqopusf}rh;k & cgqopusf}rh;k & cgqopusf}rh;k & cgqopus)  -  ----------------------------------------------------------------------------------------    

7. dks"Bdkr~ mfpra ina fpRok okD;kfu iwj;r & dks"Bdkr~ mfpra ina fpRok okD;kfu iwj;r & dks"Bdkr~ mfpra ina fpRok okD;kfu iwj;r & dks"Bdkr~ mfpra ina fpRok okD;kfu iwj;r &                         (½x4=2) 

 (i) l% tya l% tya l% tya l% tya ----------------------------------------------------A A A A (ficrq] ficficrq] ficficrq] ficficrq] fic) 

    (ii) vga f’k{kda vga f’k{kda vga f’k{kda vga f’k{kda ----------------------------------------------------A A A A (ueko] uekfuueko] uekfuueko] uekfuueko] uekfu) 

 (iii) rs pyfprs pyfprs pyfprs pyfp=a =a =a =a ------------------------------------------------------------A A A A (i’;r] i’;Urqi’;r] i’;Urqi’;r] i’;Urqi’;r] i’;Urq)    

    (iv) o;e~ fp=kf.k o;e~ fp=kf.k o;e~ fp=kf.k o;e~ fp=kf.k ------------------------------------------------------------A A A A (i’;ko] i’;kei’;ko] i’;kei’;ko] i’;kei’;ko] i’;ke)    

8. dksdksdksdks"Bdxr ’kCns"kq mfprka foHkfDr"Bdxr ’kCns"kq mfprka foHkfDr"Bdxr ’kCns"kq mfprka foHkfDr"Bdxr ’kCns"kq mfprka foHkfDraa aa    iz;qT; fy[kr & iz;qT; fy[kr & iz;qT; fy[kr & iz;qT; fy[kr &                         (½x4=2) 

 (i) ----------------------------------------------------ue%Aue%Aue%Aue%A            (vEckvEckvEckvEck) 

 (ii) ------------------------------------------------------------LokgkA LokgkA LokgkA LokgkA         (bUnzbUnzbUnzbUnz) 

 (iii) jke% jke% jke% jke% ------------------------------------------------vye~Avye~Avye~Avye~A        (jko.kjko.kjko.kjko.k) 

 (iv) --------------------------------------------------------    LofLrA  LofLrA  LofLrA  LofLrA      (tutututu) 

9. inifjp;a fy[kr & inifjp;a fy[kr & inifjp;a fy[kr & inifjp;a fy[kr &                                     (½x6=3) 
 inkfuinkfuinkfuinkfu            foHkfDr%foHkfDr%foHkfDr%foHkfDr%        opue~opue~opue~opue~     
 dU;kuke~dU;kuke~dU;kuke~dU;kuke~        ------------------------------------------------------------        ----------------------------------------------------------------    
    ijEij;kijEij;kijEij;kijEij;k        ------------------------------------------------------------        --------------------------------------------------------------------    
    lhefUruh"kqlhefUruh"kqlhefUruh"kqlhefUruh"kq        ----------------------------------------------------------------        ------------------------------------------------------------------------                                                

10. js[kkafdrkfujs[kkafdrkfujs[kkafdrkfujs[kkafdrkfu    inkfu vk/k̀R; iz’ufuekZ.ka dq:r&inkfu vk/k̀R; iz’ufuekZ.ka dq:r&inkfu vk/k̀R; iz’ufuekZ.ka dq:r&inkfu vk/k̀R; iz’ufuekZ.ka dq:r&                                    (1x4=4) 

 (i) yqC/kL;yqC/kL;yqC/kL;yqC/kL;    ;’k% u’;frA;’k% u’;frA;’k% u’;frA;’k% u’;frA    

 (ii)  egrka egrka egrka egrka izd`fr%izd`fr%izd`fr%izd`fr%    lqfLFkjk HkofrAlqfLFkjk HkofrAlqfLFkjk HkofrAlqfLFkjk HkofrA    

    (iii)  dLrqjh dLrqjh dLrqjh dLrqjh e`xkr~e`xkr~e`xkr~e`xkr~    tk;rsAtk;rsAtk;rsAtk;rsA    

    (iv)  u|%u|%u|%u|%    lqLoknqrks;k% HkofUrAlqLoknqrks;k% HkofUrAlqLoknqrks;k% HkofUrAlqLoknqrks;k% HkofUrA    
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11. /kkrqa izR;;a p i`Fkd~ d`Rok /kkrqa izR;;a p i`Fkd~ d`Rok /kkrqa izR;;a p i`Fkd~ d`Rok /kkrqa izR;;a p i`Fkd~ d`Rok /;kstf;Rok fy[kr & ;kstf;Rok fy[kr & ;kstf;Rok fy[kr & ;kstf;Rok fy[kr &                                 (1x3=3) 

 (i)  gflRok gflRok gflRok gflRok = --------------------------------------------------------------------$$$$----------------------------------------------------------------    

    (ii)  usrqe~ usrqe~ usrqe~ usrqe~ = --------------------------------------------------------------------$$$$----------------------------------------------------------------    

    (iii)  mi$xe~$Y;i~ mi$xe~$Y;i~ mi$xe~$Y;i~ mi$xe~$Y;i~ = ----------------------------------------------------------------    

12. ’kCn:ia fy[kr’kCn:ia fy[kr’kCn:ia fy[kr’kCn:ia fy[kr    & & & &                                         (1x2=2)    

    (i)  dfo&iapehdfo&iapehdfo&iapehdfo&iapeh            (ii)  yrk & lIrehyrk & lIrehyrk & lIrehyrk & lIreh    

13. /kkrq:ia fy[kr &   /kkrq:ia fy[kr &   /kkrq:ia fy[kr &   /kkrq:ia fy[kr &                                               (2x3=6) 

 (i)  YkHk~ & yV~ ydkjYkHk~ & yV~ ydkjYkHk~ & yV~ ydkjYkHk~ & yV~ ydkj    

    (ii)  ik & fof/kfy³~ ydkjik & fof/kfy³~ ydkjik & fof/kfy³~ ydkjik & fof/kfy³~ ydkj        

     

 

                                     

 

 


